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1.7f¢ 3 guiATen & Ud® 3ieR BT A = 1,
B = 3mwmmmm%aﬁw
s fowm domdEe AF 9Ur o
8, d RADICAL ¥ & 3R &1 $ T &l
ghTr?

A. 88 B. 99

C. 89 D. 90

Sol:
te %

>B|—~u1:\|n—tw

S | I T L TR TR

A-r0O—OoO>rx

+D+I+C+A+1L
35+1+7+17+5+ 1+ 23 =89

T4y, fded C Ig IR 2

2.U% Hc YV H, VIBRANT &I CJWSUOB
¥ ®U § Feag foar T g1 df S Fe Hm

# ELASTIC & &9 Heds fhar Smm?

A. BMFTDJU B. BMFLPJU

C. OKFTDJU D. BMFTHYT

Sol:
As,
£l £1 &l o T - . o - |

I R A N T

c J W S U O B
Similarly,
E L A s T I C
+N + 1 1 +1N\ + +1

m BYJU'S

3.¢% ffda Pc HINT #, ‘dee due tic’ &I
‘roses are red’ & &J 'ef, ‘bil doe’ &I
‘vellow carnations’ ¥ =Y H 9T ‘tic dur
doe’ &I ‘carnations are pink’ F E7 H

o wirar 81 9t S B U | 'pink’ & g

T Fe gHI?

A. doe B. tic

C. dur D. dee

Sol:

‘dee due tic’ = ‘roses are red’ (1)
‘bil doe’ = ‘vellow carnations’

I 3

‘tic  dur doe =

pink__

‘are’ 3R 'tic' (1)@?(3)13{1411?@[% 3 'are'
'tic'

'carnations' 3R 'doe’ (2) 3R (3) H M &,

3{d:, 'carnations' = 'doe’

(3) ¥, 'pink' = 'dur’

gufere, et fawed C Bl

4.9f¢ 3 quiaTel & TS 3R DA = 2,
B=4% IY g4 T=&HS AF fear mr g ot
Yeq EARTH & fIT g a1 gIm?

A. 122384216

B. 102364016

C. 102364018

D. 102384218

Sol:

g fear fd A = 2, B = 4 3R 5 Rl

dl, E=10,A=2,R=236,T=40,H =16
dl EARTH = 102364016

ey, el SR fawed B g

5.U% % YT H COLECTOR &1 ELOCROTC &
wy H fo@r @ gl @S ge W
# COMMISSIONER &1 ¥ ferar smam?

A. SIMMNOISCORE

B. SIMMOCRENOIS

C. MMCORENSIOIS

D. OISSIMMCOREN

Sol:

Logic: write first half in the reverse order
and then write next half in the reverse
order.

As,

COLE/ CTOR = ELOC/ ROTC

‘carnations are
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Similarly,
COMMIS/ SIONER = SIMMOC/ RENOIS
Hence, option B is the correct response.

6.U% % UMW H CAT I BDZBSU & ¥U
forar Srm €, @ I He Ui H LION & H9
ferar e

A. NMHPIMN

B. KMHPDPMO

C. KMHINPMO

D. PMHINPNO

Sol:

gl 89 3™ UHhd § b TP quier Pl ISP
gd 3R ¢ & qUieR ¥ dad feam T gl
"C"®H! "BD"F ¥U H Heag [HA T B,
'A'®I 'ZB' ¥ w9 § FHeag fHar T gl
3, 'LION' &1 'KMHIPMO' & %0 ¥ Hcdx
forar S|

zafem, fdeed (C) T8 I B

7.0% $Hc UMW H, ASTRONOMY &l
SARTPONYM & ¥4 # forar ofiar g1 39 &e
YT ¥ FENUGREEK &1 &9 forar smame?

A. UNEFGKEER

B. EFUNFERKE

C. EFUNHKEER

D. EFUNHERKE

Sol:

The pattern is:

similarly,

Hence, the correct response is (D).

m BYJU'S

8.U% Hc MW H, TANK @I 7-26-13-16 &
Wﬁmw%m@ﬁﬁﬁcmeoaﬁﬁ
forar Smae?

A.24-26-9-20-15
B.24-26-9-20-12
C.24-26-18-20-12
D.23-01-9-20-12

Sol:

Take reverse rank of alphabetical letters.
As, (T)7-(A)26-(N)13-(K)16=7-26-13-16
Similarly,

(C)24 - (A)26 - (R)9 - (G)20 - (0)12= 24
-26-9-20-12

Hence, the correct answer is option B.

9.9f¢ KIND 1 20 % ¥4 H Peas fddl
STl 8 3R MOBILE & 42 & &U § Feds
fa1 wraT 8, @ GUE YT9T § PRIMARY &t

A forar sme?

A. 42 B. 36
C. 56 D. 78
Sol:

The logic behind the code language is -
number of letters in the word multiplied by
its succeeding number.

i.e.

In KIND - there are 4 letters

So,4 x5=20

Similarly,

MOBILE = 6 x 7 = 42

So,

PRIMARY =7 x 8 = 56

Hence, option C is the correct answer.

10.T% %< YT T PASTEUR &I TPRUASE &
w0 # fear W gl W W

H SEVENTY & &3 gedg far Smem?
A. ENVETYS
C. ESYETNV

B. NSYTEVN
D. ESYTEVN
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Sol:
As,
P A S T E U R

T P R U A S E
Similarly,
S E V E N T Y

E S Y T E A N

Hence, option(D) is the correct response.

11.9f¢ EFMI] &1 31f DELHI B1
d IQBOS &1 fEHIET HH W U s &I

3ifam e grm

AT B. R
C.K D. M
Sol: E(-1) =D
F(-1)=E

M(-1) =L

I(-1)=H

J(-1) =1

Similarly,

I(-1) =

Thus, R is the last letter.
Hence, option B is the correct answer.

12.U% % YW H, DICTIONARY &I
ITCIDYRANO & 0 ¥ forar wrar g1 dr 39
%< U H CAMBRIDGES &1 &9 forar Sam?
A. RMABCSEGDI

B. RMBAESCGDI

C. RMBACSEIDG

D. RBMACSEGDI

Sol:

TS DS Bl U HRA & oY T T e

& T ST YT B I HH | forar S 3R
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1Y Bt I1BT & 3Y HRT BT 1 I HH | forar
SR

o,

DICTIONARY &I ITCID YRANO forar Sirdr @
I UER, CAMBR IDGES &I RBMAC
SEGDI ferar S|

3d: et IW: fAdeu D B

13.3f¢ fedl w1 & BOLLYWOOD @l
“263375664” % ¥U H Hedg fbal oAl § 3R
HOLYWOOD &I “86375664” & ¥U U Hcdg
f35ar ST 8, @ TOLLYWOD & fore a1 ge ghme
A. 26564337

B. 33756426

C. 26375364

D. 26337564

E. 27564633

Sol:

Alphabet A B C D E F G H | ]

Position value | 1 2 3 4 5 6 7 8 9 10

11

12

13

Alphabet z Y X w |V u T 5 R Q

Positionvalue |26 |25 |24 |23 |22 |21 (20 (1% |18 (17

16

15

14

Considering the place value of letters we
get,

As,
B(2),0(15),L(12),L(12),Y(25),W(23),0(15
),0(15),D(4)

= B(2),0(1+5),L(1+2),L(1+2),Y(2+5),
W(2+3),0(1+5),0(1+5),D(4)
=263375664 and H(8),0(15),
L(12),Y(25),W(23),0(15),0(15),D(4)

= H(8),0(1+5), L(1+2),Y(2+5),W(2+3),
0O(1+5),0(1+5),D(4)

= 86375664

Similarly, TOLLYWOD is coded as
T(20),0(15),L(12),L(12),Y(25),W(23),0(1
5), D(4)

= T(2+0),0(1+45),L(1+2),L(1+2),
Y(2+5),W(2+3),0(1+5), D(4)

= 26337564

Hence, option D is the correct answer.

14.9f¢ HUSBAND = 10, ANIMAL = 9, @

HOUSEHOLD ! &3 forar e
A. 12 B. 22
C. 28 D. 26
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Sol: In this question, we show that-
Number of words in HUSBAND - 7
(7+3) =10

Number of words in ANIMAL - 6
(6+3) =9

Similarly,

Number of words in HOUSEHOLD - 9
(9+3) =12

So?=12

So the correct answer is option A.

15.9fd 9 * 7 * 5= 72975 3R 4 * 8 * 6=
6486 A9 7 * 3 * 5= ? &I H JId D3I

A. 82559 B. 34335
C. 14527 D. 47865
Sol:

Logic : In (9 * 7 * 5) is operated as last
two numbers are written as it is, and the
first number is cubed. Like.

93 = 729 and 75 — 72975

In(4 *8 *6)

43 = 64 and 86 — 6486

In(7 *3 *5)

73 = 343 and 35 — 34335

Hence, option B is the correct answer.

16.9f¢ f&dt @ H DEVELOPMENT &I
45853106572 forar wrar €, o S @i H

ENVELOPE &' &3 forar s

A. 57851305 B. 57853105
C. 57835105 D. 57850135
Sol:

DEVELOPMENT — 45853106572

ENVELOPE — 57853105
3a:, fapey B IEl IR Bl

17.9f¢ A BT ®Is PXUZK B, O APRIL BT HIS
1 gIIT?

A. DMUFO B. DSULO
C. ZKIRO D. ZKRIO
Sol: the pattern in the code is,
M+3-P

A-3-X

R+3-U

cC-3-2

H+3-k

Similarly,

m BYJU'S

A+3-D

P-3-M

R+3-U

I-3-F

L+3-0

Hence, option A is the correct response.

18.9f¢ DEAN &1 NOKX forar &g, df NEED &1
3JY Fe-HIW § o1 forar Sren?

A. NOOX B. XONO
C. ONQX D. XOON
Sol:

D E A N

I 4 L

N O K X
Similarly,

N E E D
L4

X O O N

19.U6  FHc-UT H  OPERATION &l
EPOTARNOI forar ral g1 deq8R, 98 e
-1 7, S ORPSECSES ferar smum?

A. PORCESESS B. PROCESSES

C. POSSESORC D. PROSSESC

Sol: As,
OPE RAT 1 ON

S S

EP O T R N O
Similarly,
ORP S EC SES

KoK K

PRO CE S SE S

Hence, option B is the correct response.
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20.t®% Afga ®Is #, PRIEST &I OQHDRS &
¥U ¥ forar a1 81 PRISTINE & U # ferar o
bl g

A. OQHRSHMD
C. QORHHSMD

B. OSHRQMDH
D. QOHRSHMD

Sol:

IEST—>0OQHDRS
-1

,fTWT’

I —

-1

PR
=)
l

—_m

Similarly,
PRISTINE—OC

Q
{LE1 L =ta4

LJ_Y......,_.JI__.[.
111

1
1
| -1 |
| 1 |
) |
o |
I
|

|

HRSHMD
~

21.7f2 3OS JuiHTar & TS 3MeR & fawH
THHD AHSHYPR A =1,B=3,C=5
3R 3t R M & gufarar & Ay forar
81 NOMINAL TTeg & &Rl & A &1 Fd aNT
T BII?

A. 149

C. 146

Sol:
NOMINAL H & -
N - 27

0-29

M - 25

I1-17

N - 27

A-1

L-23
FA=27+29+25+17+27 +1+23 =
149

zafey, faweu A T8 SR B

22.U% Afia P YTST :
"QUOTATION" &I "UVSUEUMPR" & &Y
# for@r SIraT @ 94T "PURCHASE" &1
"TVVDLBWF" & U ¥ for@r wmar 8159
Pe UTUT & "BUYER" &t &u forar wmemm?

B. 144
D. 150

m BYJU'S

A. FVCKV B. FVLFV
C. FVCFV D. MVCFV
Sol:

As,

+4 #1 +4 +1 +4 +1/

v v v v
v v v v

T Vv Vv D L B w F
Similarly,
B U Y E R

[
[+4 [+1 44 +1 +4

v
v v

[

F V €© F V
F vV C F V
augnsummﬁwcw%wﬁaﬂ%aﬁm
ST g

zgferg, fawed C I8 IR B

23.U% [Af¥d g yreT &, BOARD &1 YLZIW &
0 ¥ forar omar g, O MOUSE &1 & ferar

SITE?

A. NLFHV B. MNLVH
C. LNFVH D. HVNLF
Sol:

The letters are coded by its opposite letter
to obtain the certain code.

BOARD [~] YLZIW

Therefore, MOUSE [~] NLFHV.

Hence, option A is correct.

24.U% AT e wror &, MULTI &I 100 &
FY T dUT PLEX 1 48 & &Y U Hds (bl
SIdr g1 < I He Ut H Ieq SAMSUNG &l

FY forar Sw?
A. 294 B. 200
C. 196 D. 168
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Sol:

The code is obtained by subtracting the
square of total number of letters in the
word from its cube.

The number of letters in MULTI is 5 and the
code is

- 53—-52=125-25= 100_
Therefore, the code for SAMSUNG is
— 73 — 7% = 343 — 49 = 294.

Option (a) is correct.

25.0% Hc UTST § RAMAYANA &1
ANAYAMAR & &0 & forar man g1 df 3t @e
YT § MAHABHARAT &1 &9 forar Smam?
A. TARAHBAHAM

B. TARBHAAHAM

C. TARAHBAMAH

D. ARATHBAHAM

Sol:

T 3eR B I HH | forar T B

o UeR,

RAMAYANA = ANAYAMAR

I UDR,

MAHABHARAT=TARAHBAHAM

zafen, faeed A T8 I B

26.0% AfYd dIs & T H,

ORIENTAL &I MBUOFJSP ferar %, a1 3
HIe & COWARDLY &I &9 feraif?

A. XKCQBXPD

B. XLBQCXPD

C. ZMESDPXB

D. S8 J ®Is ol

Sol: Logic: The letters of the word are
written in reverse order and then each
letter is moved one step forward to obtain
the code.

ORIENTAL  LATNEIRO

Now,

L(+1)—>M

A(+1)—->B

T(+1) - U

N(+1)—-> 0O

E(+1)—>F

I(+1) —J

R(+1) - S

m BYJU'S

O(+1)—>P

Similarly,

COWARDLY & YLDRAWOC

Now,

Y(+1) > 2Z

L(+1) > M

D(+1) - E

R(+1)—S

A(+1)—-B

W(+1) - X

O(+1)—>P

C(+1)—-D

So, COWARDLY is coded as ZMESBXPD
(which is not given in any option).
Hence, option D is the correct answer.

27.f&d B U (Hre) T SISTER &I RHRSDQ
w0 ¥ forar ST § O S9 &S § UNCLE & {5

¥ H foran smem?
A. TMBKD B. TBMKD
C. TVBOD D. TMKBD

Sol: LOGIC: Each letter in the word is
moved one step backward to obtain the
corresponding letter of the code.

S(-1) =R
I(-1)=H
S(-1) =R
T(-1)=5S
E(-1)=D
R(-1) =Q
Similarly

U1 =T
N(-1)=M
C(-1)=18
L(-1) =K
E(-1) =D

Hence, option A is the correct answer.

28.fd AfSad &g HIST & PRODUCTIONS &1

QQPCVBUHPMT ferar ST i ar

gTréITﬁNTATION P I Pre W H# Fr foran
?

A. PQJDOSBSINO
B. PQIDOUBUIJPO
C. PSJFOVBSINO
D. NESHFMVBSINO

) |
Y.
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Sol:

Logic: The first, third, fifth, seventh, ninth
and eleventh letters in the word are each
moved one step forward, the second,
fourth, sixth, eighth and tenth letters are
each moved one step backward.

So, PRODUCTION - QQPCVBUHPMT
Similarly,

ORIENTATION - PQJDOSBSINO

Hence, option A is the correct answer.

29.T% WY IS YW §, COMPUTRONE &I
PMOCTUENOR & ¥*u # femar g1 @t
ADVANTAGES & ®1g # 9 fordm?

A. SEGATNAVAD

B. AVDATNSEGA

C. AVDATASEGN

D. NAVDASEGAT

Sol: Logic: The first four letters, the
middle two letters and the last four letters
of the word are written in a reverse order
to form the code.

COMPUTRONE is written as:-

COMP = PMOC

UT > TU

RONE = ENOR

So, "COMPUTRONE" is coded as
"PMOCTUENOR".

Similarly,

ADVANTAGES is written as:-

ADVA = AVDA

NT = TN

AGES = SEGA

So, "ADVANTAGES" is coded as
"AVDATNSEGA".

Hence, option B is the correct answer.

30.9f¢ NASCENT &I 2734526 forar og, i

3 ®is § SENTENCE &1 &1 ferar Smaam?
A. 35265235 B. 35256245

C. 35265245 D. 35256275

Sol:

NASCENT — 2734526,
N—-2,A—-7,S—>3;,C—>4, E—-5; N
—2; T—>6

Using the number codes of the above
letters we get:

SENTENCE

m BYJU'S

S >3, E—-5 N—-2,T -6, E—>5;N
—-2;,C—>4,E—>5

So, SENTENCE — 35265245

Hence, option C is the correct answer.

31.9f¢ TALENT &1 LATENT for@ 9d ®©

dl EXOTIC &' &1 forg 9ahd g2
A. OXOTIC B. TEXTIC
C. OXETIC D. EXOTIC

Sol: In the word TALENT first three letters
are reversed Thus for the word EXOTIC it
becomes OXETIC

Hence, option C is the correct answer.

32.3f¢ BEDA &1 DIJHB for@r ST § O DEKA

I 7 forar Sru ?
A. HBVJ B. JVBH
C. HIVB D. HIVB

Sol: BEDA is coded as DJHB as:

B x 2 =2 x 2 =4 which is the place value
of letter D.

E x2=5x 2 =10 which is the place value
of letter J.

D x 2 =4 x 2 = 8 which is the place value
of letter H.

A x 2 =1 x 2 = 2 which is the place value
of letter B.

Similarly,

DEKA is coded as:

D x 2 =4 x 2 = 8 which is the place value
of letter H.

E x 2 =5 x 2 =10 which is the place value
of letter J.

K x 2 =11 x 2 = 22 which is the place
value of letter V.

A x 2 =1 x 2 = 2 which is the place value
of letter B.

So, DEKA is coded as HIVB.

Hence, option C is the correct answer.

33.fdt Ry sy & *FORGE’ &1 'FPTII
forar ST g1 @ I3t Bie Wl H Teg "CULPRIT
P 1 forar SR

A. CVNSVNZ
C. EVMQSTU
Sol: Pattern is:

B. CSINPGR
D. CXOSuLW

g SSC Success Batch

A comprehensive 10 Months
Foundation Course (English Batch)



http://www.gradeup.com/
https://gradeup.co/super-subscription/ssc-exams?source=eyJwYWdlTmFtZSI6IlNTQ2F0YWxvZ3VlIiwic291cmNlIjoiRXhhbUxpc3QifQ==

www.byjusexamprep.com

Therefore,

Hence, option (B) is the correct response.

34.9f¢ TH I H FRIEND &I HUMITK ferar
a1 § df I B H CANDLE &1 &9 forar o

TpaT g?

A. DEQIQM B. DCQHQK
C. EDRIRL D. ESJFME
Sol:

gt W feor a1 uRey g (IReAnst &I quiArer

& YT HS JE T SHST SE)

F+2=H
R+3=U
I+4=M
E+5=]
N+6=T
D+7=K

JAM TR A, CANDLE = EDRIRL
zafery, faed C Iel IR B

35.9f¢ MASTER &I U % HINT § SAMRET
forar ST @ 39 e U § CARROT & fd

UHR forar Se ?

A. RACTOR B. RCATRO

C. RCATOR D. ARMTOR

Sol:

M A =1 T E R
S A M R E T

Therefore,

C A R E. Q T
K >K

R A C T Q R

Hence, option A is correct.

m BYJU'S

36.fFdt Ay ®is W # "LOYALTY" &I
"MPZBMUZ"feRaT SIraT 8 | 39 His U |
"PROCLAIM" & f&rg UsR ferar smam?

A. QSPDDBIN B. QSPDBMIN
C. QSPDMBIN D. QPSDMBIN
Sol:

&Rl F A &Y 3F UPR B,
L 9] Y A L T i
+1 +1 +1 +1 +1  +1 +1

Ll

M P z B MU z

+1 +1 +1 +1 +1 41 +1

L

Q 5 P D M B J

3{d: PROCLAIM &1 ¥ QSPDMBIN ¥ g1

$9fere, fdde C 9@t W

37.9f¢ SUNDAY = 18, MONSOON = 21,
YEAR = 12, @ THURSDAY = ?

A. 26 B. 42
C. 28 D. 24
Sol:

e d:

&E 'SUNDAY’ & 31&R} & T = 6

TE SUNDAY’' @ = 6 x3 = 18

gl UBR 9, Weg ‘MONSOON' H  31eR} &t
=T = 7

T8 MONSOON § = 7 x3 = 21

3R e ‘'YEAR' H 31eRI Pt T=AT = 4
YEYEAR T = 4 x3 = 12

39 UPR, s 'THURSDAY'H 3Rl &bt
I = 8

g THURSDAY § = 8 x3 = 24

$9fer, fased D 8T I 3
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38.0% fRIP @i wwr d "READ" &I
"18514"foRaT ST § | I HIS UMW § "RATE"

& fog R for@r S

A. 181520 B. 181025
C. 181205 D. 181914
Sol:

R=18 R=18

E=5 A=1

A=1 T=20

D=4 E=05

Hence, option C is the correct answer.

39.t% falRly ®Is ymwr #, "FRIEND oI
"IULHQG" forar ol 8] 39 &g W
"ENEMY" & {8 UsR forar smam?

A. HQHPB B. HQHPA

C. HQEMY D. HQHPG

Sol: F+3 =1

R+3=U

E+3=H

Y+ 3=8B
Hence, option A is the correct response.

40.U% W@ s HINT H, SUN &I 27 SIs fear
T g1 39 & 4T & MOON &1 &1 i faar

SITT?

A. 51 B. 54
C. 48 D. 63
Sol:

Logic: Taking Z=1, Y=2, X=3 and so on till
A= 26, we see that S=8, U=6, N=13.
So,SUN=8+6+ 13 = 27.

Using the same logic,

MOON = 14 + 12 + 12 + 13 = 51.

Hence, option A is the correct answer.

E BYJU'S

419 64 + 53 = 4,86 + 42 =4, d 83 +
72 =7

A. 12 B. 10

C. 15 D. 18

Sol: In 64 + 53 = 4:
6-4=2;5-3=2=2+2=4

In86 +42 =4
8-6=2;4-2=252+2=4
Therefore,

In83+72="7
8-3=5;7-2=5=5+5=10
Hence, option B is the correct answer.

42.TH IBIEG] PIS & &Y
# ROSE &1 #43$ forar 741 § 3R FIRST &1
5x#37 % ¥U # forar M 31 O 39 DS

% STORE & &9 fora™ ?
A. 473$# B. 473#$
C. 374#$ D. 347#$
Sol:

R O S E

2 43 8%

B.E RS

B i g

Using the above letter codes we get,

o 1 O R E

v Y ' ' '

3.7 @ ¥ €

Hence, option C is the correct answer.

43.7f¢ DEAF 32 & sRIeR §, dl LEAF &1 gRTI?

A. 48 B. 50
C. 52 D. 56
Sol:

Logic: Take the sum of the place value of
letters x 2 = number code
D+E+A+F—-4+5+1+6)=16
=16 x 2 =32

.Y
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Similarly, Sol:
L+E+A+F—>(12+5+1+6)=24 U—-21 -2-1-—1
=24 x 2 =48

thus, LEAF = 48

Hence, option A is the correct response.

M—13—-3-1-=2

N—14 —=4-1— 3 A—-01—-1-0—=1

[ 09 —=9-0—9 N—14 —-4-1— 3

44.7f¢ BURNER &1 CASOIS forar &rdr g, o,

T—20—-2-0—2 G—=07/=7-0—=7

ALIMENT & f&g yeR fadm?

A. BKILFMU B. EKOLIMS Y—=25—+5-2-3 O0—-15—-5-1-—4
C. EMONIOU D. BRISFTU Hence, option B is correct.

Sol:

As for each vowel in BURNER the next
vowel is written while for the consonant,
the next letter after the consonant is
written in the code.

BURNER ==

.

CASOIS
+1 2% 1T

+ 1 Vowel letter I | ’

+1
+ 1

+ 1 Vowel letter
+ 1

Similarly,
ALIMENT ?EMONIOU
Hence, option C is the right answer.

45.fH8 BIg YW T SHEEP &1 GAXXR 3R
BLEAT &I HPXTN forar Siidr g1 af S5} g HT
H SLATE &I a1 forar Smam?
A. GPTNX B. GPTXN
C. GPXNT D. PTGXN
Sol:
Letter S H E P B L A T
Code G A X R H P 15 N

Using the codes of above letter we get the
code of SLATE — GPTNX.
Hence, option (A) is the correct response.

46.9f¢ UNITY @1 13923 & ¥U H difed fdbar
ST 8, A MANGO &1 &9 SIfsd fHar smem|
A. 23174 B. 21374

C. 23147 D. 21347

47.9f¢ SEASONAL &I ESSANOLA, ferar S,
dl I fe Ut § SEPARATE o feran SiTa:

A. SEAPARET B. ESPARATE
C. ESPAARTE D. ESAPARET
Sowl:

Tgt e &

S EA SO NA

XXXX

SS AN OL
Similarly,

EP AR AT

><><><><

PA RE T
m:,ﬁwoﬂﬁrw%

48.U% Afd HIfST yomett 4,
APPLE &7 1€ ETTPI g1 'DELHI' & fl@ &g
T gIIT?

A. CQMND B. CQPLM
C. ZAHDE D. HIPLM
Sol: As,

\Pl’l E—aET TP

L K
i

i P —
Similarly,
DELHI—HIPLM
i b s = T il

e - :,,,—._.

| — e — J

[ -

Hence, option D is the correct answer.
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49.9f¢ FIREWOOD &1  U&  $Hc YW
4 ERIFDOOW foRal S, @ 39 % W
T FRACTION &I {9 e forar Sam?

A. ARFITCNO B. NOITCARF

C. CARFNOIT D. CRAFNOIT

Sol FIREWOOD is written as ERIFDOOW

><
<

Using the same rule:

><

m s
=00 Qo mMm—= 3 m

O oo =

X-ﬂ
- -0 2 M XD >

20"~

SSC Success Batch

A comprehensive 10 Months
Foundation Course (English Batch)
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EXAM PREP

So, FRACTION can be written as
CARFNOIT.
Hence, option C is the correct answer.

50.0f¢ fedt fAffad adid ¥ HYDROGEN @I
JCIZYSSD, forar 51 gebar & O ANTIMONY &1
g yeR forar S

A. CPVKOQPA B. CRZQWABO
C. ERXMQSRC D. GTZOSUTE
Sol:

HY D R G E N

2+4+6 [+8| +10+12+14

A

Similarly,
AN T

Y
2+4+6 |+8B +1+2i
o

Hence. option B is correct.
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